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1. In man, the pair of chromosome of female zygote is
TR Jferat dRer 391 SRS (zygote) BTE T @RI T'A
[A] 44 +XY [B] 22+X
[C] 23 DI 444+ XX

2. The mature seeds of plants, such as gram and peas, possess no endosperm, because
Pz =F oIy T SHra w0 Moo Farem Soers wwm, wRe
[A] these plants are not angiosperms
e 3G Bfew W=
[B] there is no double fertilization in them
W owae Rl T
[C] endosperm is not formed in them
RO TAR Mo w7

[D] endosperm gets used up by the developing embryo during seed development

3od Nem [erR s Rafie s Foenes o <& omm

3. Match the following pairs correctly :
oS Al (AR wEsiE fe

Column—A Column—B
BT T3
a. Aleurone layer. 1. Without fertilization
<fer%ae wee e ezt
b. Parthenocarpic fruit 2. Nutrition
ST /AN T T CoATEe
c. Ovule 3. Double fertilization
e s
d. Endosperm 4. Seed
AT Bl

[Al a-1 b2 3 d-4

Bl a2 b-1 c4 d3
IC] a4 b2 c-1 d-3
D] a2 b4 1 d-3

4. A piece of wood having no vessels belongs to

AR AL TN T T AR

[A] teak [B] mango
R T

{C] pine (D]  palm
9 SISO

CEE-2014/2-D [ P.T.O.
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5. Glycogen is a homopolymer made of
TR AR A (A T (=R

‘[A] glucose [B] galactose
e ' (AT S

[C] ribose [D] amino acid
RIESIE ofi’ «fpe

6. The form of sugar transported through phloem is

GRICATd NITSCA 2RIRS (@l (ofrems tarr

[A] glucose [B] fructose
>F'w F3w

TC] sucrose D] ribose
E® RlESHE:

7. Water potential of pure water at NTP is equal to
e Taore frum oA oA Reww W TE

TA] 10 Pa (B] 20 Pa
iC] O Pa [D] None of the above
@9qq WbIS T

8. Match the following pairs correctly :
et il (AR wEeid ARt

Column—A Column—B
THE—F TT—Y
a. Boron 1. Splitting of water to liberate oxygen
'3 during photosynthesis
HACAACIETS AR = Roree 0%
e fsfe
b. Manganese 2. Needed for synthesis of auxin
casie S ACHRTS ATAE =
c. Molybdenum . 3. Component of nitrogenase
¥ feree RL TEE =l (W)
d. Zinc 4. Pollen germination
foe oINSl

[A] a-1 b2 3 d-4y

[B] a4 b-1 c3 d-2¥%

[C] a3 T2 “~e4 d-1%*
D] a2 b3 o4 vd-1

CEE-2014/2-D 2
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9. During light reaction in photosynthesis, the following are formed
ACARPRCIRR s Rie Seom e Semee (g
[A] ATP and sugar
ATP 9= G5
[B] Hydrogen, oxygen and sugar
G TE, WA A (5
1C] ATP, hydrogen donor and oxygen
ATP, 3o (3% IF AEEw

[D] ATP, hydrogen and oxygen donor
ATP, 33G'TE7 W1 WECER (27T

10. The enzyme that is not found in C, plant is
C, S oo (AICER1 6T Ry RR

[A] RuBP carboxylase '[/B] PEP carboxylase
RuBP 3 fite= PEP I/’fai=e

[C] NADP reductase [D] ATP synthase
NADP fRerss ATP foces

11. The end preduct of oxydative phosphorylation is
wfcete Ie [T wae Seow @t SAmMW CaR
[A] NADH [B] O2
[C] ADP “ID] ATP +H,0
12. Match the following pairs correctly :
woTe T (IRieaR wweRl e

Column—A | Column—B
T TE—Y
a. Duodenum 1. A cartilaginous flap
RS a1 Fibeafer Grel
b. Epiglottis 2. Small blind sac
afors’ g, FU WA T
c. Glottis 3. U-shaped structure emerging from the stomach
oo ¢*59 #11 A @R U Srpfes «bt =zt
d. Caecum 4. Opening of windpipe
foFm IR AR Y

[A] a1 b2 &3 d4"
[B] a4 b3 c¢2 d-1t
[C] a3 b1 c4 d-2+
“[D} “a-2 “b4 -1 +4-3

CEE-2014/2-D 3 {P.T.O.
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13. Which one of the following does not exhibit phagocytotic activity?
e WAART °[1 o <Ry I A Shiea Rica @@o’viRs e IR (Rerganl

@ Monocyte [B] Neutrophil

Rk g et

[C] Basophil "[/D] Macrophage
I e e

14. Which one of the following blood cells is involved in antibody production?
TS BN T (T TF IOFIRE G5 oEe F€rS ol o 7

[A] B-lymphocyte [B] T-lymphocyte
B-Fre g3 T-fore of2g
[C] RBC D] Neutrophil
AR et

15. The correct sequence of conduction of cardiac impulse is

FIGTF ToARE AT W FACD! (R

o’
[A] SA node—AV node—Purkinje fiber—AV bundle
SA T'TAV F'B—ARRFY AE—AV 7

[B] SA node—Purkinje fiber—AV node—AV bundle
SA TP WE—AV TT—AV @

[C] SA node—AV node—AV bundle—Purkinje fiber
SA TT—AV TTAV W—RReg w2

[D] SA node—Purkinje fiber—AV bundle—AV node
SA 7'S—RfFg WR—AV AV T

16. Resting membrane potential is maintained by
@R wRFR AfeEE

[A] hormones [B] neurotransmitters
TR T W e GwRoRT @ =

"[/C] ion pumps [D] None of the above
R AR AR 2 8949 1Y ANIS W

CEE-2014/2-D 4
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17. Which of the following is not involved in knee-jerk reflex?

Knee-jerk reflex © ©o{ (FWBIA ©19 o7 ?

JA] Muscle spindle
e Petge

[C] Brain
R

[B]

[D}

Motor neuron
T8 A%
Interneuron

RO

18. The area in the brain which is associated with strong emotions is

TG (PINCH] WiReeT Q@ Brasia Tics TR 02 R 2

[A] cerebral cortex

@R w1

{-Q]/ limbic system
v
: feifie fcew

1B]

(D}

19, The organ of Corti is a structure present in

o S 09 SfoW (TR A

[A] external ear
Mezefs

‘[/C] nasal cavity
EUESILES

[B]

[D]

cerebellum

RN
medulla

Sl

middle ear
TN TS

cochlea

TS

20. Which of the following are technically not correct names for a floral whorl?

SIS TRl (AR P R o[ Qo2 Jor b TERT AR 0F T2 2

L Androecium
k2

I. Carpel
Pt

IIl. Corolla
F'4l

IV. Sepal
forere

[A] 1and IV
1 9% IV

[C] 1 and IV
I =is 1V

CEE-2014/2-D
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21. Person having genotype 1%12 would show the blood group as AB. This is because of
118 (eBiReR o Ufeq (TER 4 2T AB. TR IR (K

“fA] pleiotropy [B] codominance
famgi= TR~

{C] segregation (D] incomplete dominance
GREIEaE! S| 2Tl

& {0 S ST T
22. Mother and father of a (person with O blood @ have A and B blood groups
respectively. What would be the geniotype of both mother and father?

O (T5F HUH OGS TEI TP W Cigd (98I F0 T A WF B. TP WE Prg TSR
o B & 230

[A] Mother is homozygous for A blood group and father is heterozygous for B blood
group

A (TF FE A3 WP 2T TR WE B (T8 FR W P @DRER

[B] Mother is heterozygous for A blood group and father is homozygous for B blood
group
A (T8 PR AT VP CHREAE WE B (OF FH WA Ay DA wRAR

[C] Both mother and father are heterozygous for A and B blood groups respectively
A % B (9% FF IT T Wg AF Frp T @REEIE

[D] Both mother and father are homozygous for A and B blood groups respectively
A TIF B (97 %R @ T TP WE £y Te@ TR

23. Which of the following statements is the most appropriate for sickle-cell anaemia?

fBred-cem afifiR cvae ool @bl T wfdle Te 247

[A] It cannot be treated with iron supplements

e e @9 e =i Bieew F7 cmanfe

[B] It is a molecular disease

3 «fRy WA @9

[C] It confers resistance to acquiring malaria

AR WRWR Crge 3 AfReE® W I

‘D] All of the above
TorATE HHIRTER!

CEE-2014/2-D 6
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24. With regard to mature mRNA in eukaryotes, which one of the following statements is
correct?

TG 7l 1% mRNA T (RO woiq (PRICHT B w5 2

[A] Exons and introns do not appear in the mature mRNA

o2l mRNA & 93 W TG S 412

[B] Exons appear but introns do not appear in the mature mRNA

ofeflel mRNA S @I Tofefs sz fe 3G 72

[C] Introns appear but exons do not appear in the mature mRNA

*foIen% mRNA © 3G Toifefe sy g w3 w13

[D] Both exons and introns appear in the mature mRNA

iz mRNA T 9T WI¢ 5 Toaes Tolfe ey

25. Animal husbandry and plant breeding programmes are the examples of

IR TG e Tfen owee sivfcae SR tak

[A] reverse evolution TB] artificial selection
*AfRabE e fam fofog

[C] mutation fD] natural selection
ebee AFTeE Fioaq

26. Type of antibodies present in colostrum which protects the newborn from certain
disease is

RS iR qF5afRes TreTe Rrgwm @i o[ e fiw, Qo

[A]  IgG B] IgA

[C] IgD D] IgE

27. Antivenom against snake venom contains

Mo Reg R ame o0 JafomRiis ot Somm o=

[A] antigens ‘{B] antigen-antibody complexes
koaczid aForem-af53fS (st

‘ﬁ)] antibodies [D]  enzymes
«f5afe ABF

CEE-2014/2-D 7 [ P.T.O.
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28. Match the following pairs correctly :

e Ml @RI waeeg NERl

[A]
[B]
[C]
V4

[D]

a—2
a-4
a—4
a-3

Column—A

—F

Statin

3=

Cyclosporin A
Bizg =R A
Streptokinase

Bh TS

Lipase
AR

b-3

o2

Column—B
T3
Removal of oil stains

(E&Tq 71l BIoIE

Removal of clots from blood vessels
TE TATE F5 ST

Lowering of blood cholesterol

TS T (BT Wil ARl

Immuno-suppressive agent

oIS TS

Examcompetition

29. While isolating DNA from bacteria, which of the following enzymes is not used?
(BT [ DNA TRET T9E H9TS TFF (FIEY Qo eies 92 91 524 7

[A] Lysozyme
GlEET
(C] Deoxyribdnuclease
fewismRa o
30. Ecological niche is
A Ay R
A}

(B]

Icl

[D]

the surface area of the ocean

TESRR Tofere

an ecologically adapted zone

MRenTerr SfeEmme s

[B] Ribonuclease
R s
(D] Protease
o Forrs

the physical position and functional role of a species within the community

ATFBI (NG A& b1 2Ty (Do TEEH WF T20T FHFAR Pl

formed of all plants and animals living at the bottom of a lake

ATt T g SIsre W 91 T S e iR

CEE-2014/2-D
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31. Which of the following is a partial root parasite?
T (IR SREE @ emEa 2

[A] Santalum album ‘ﬁ?}] Cuscuta reflexa
(BTN G oIG! fdzFmr

[C] Orobanchea D] Ganoderma
Rk e Co1 "G

32. What will happen to a well growing herbaceous plant in the forest if it is transplanted
outside the forest in a park?

IV Aero FLARLF M B> ATl TOF WS RIS 9 SHpe @IoN I F 2’72
[A] It will grow normally
TefiFeds TR I 2]
[B] It will grow well because it is planted in the same locality
T 3 o 29 IR G g ofReie W @/ e
[C] It may not survive because of change in its micro-climate
SfEgAE «fe TR @R 0 2 AEifes wica
[D] It grows very well because the plant gets more sunlight

WA e WO O 2V I WS AT P (NZ P} FS (@ 0T

33. The process of mineralization by microorganisms helps in the release of
SEIR Tl AR A TR (@ER S R e TR WA 2
[A] inorganic nutrients from humus

2%Tem o[ W (IS

[B] both organic and inorganic nutrients from detritus
TAITE A CEE S S (I

[C] organic nutrients from humus

fECures =@ tew o
[D] inorganic nutrients from detritus
PR 4 SE RS

34. Which of the following forests is known as the ‘lungs of the planet earth’?
TR (el IS iR 2déwe’ e war qm o

[A] Evergreen forests [B] Tundra forest
o8 IMeETIE 9=l FlE

['C/] Amazon rain forest [D] Rain forests of North-East India
IS T TEI-7[ Ses R

CEE-2014/2-D 9 [P.T.C.
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35. When a phosphate group is added to a nucleoside, an acid-soluble biomolecule is

aﬁmzﬁ%aﬁﬁ%ﬁw’WMNﬂwmwmaﬁvﬁWMWmm

formed, called

=

[A] nitrogen base B]
' @’

{C] sugar phosphate [D]

PR TR

36.

adenine
e

nucleotide

SR

When we peel the skin of a potato tuber, we remove

R Bl SER IR YR W, oFOCS WEHR [l AT &

[A] periderm (B}
corfaer

[C] cuticle [D]
lRadiat '

37.
i @ BRate Siw w280

[A] Euglena B]
Essi

[C] Spirogyra 1D
s COIES '

epidermis
gy

sapwood

(2TT

Which one of the following is not a eukaryotic organism?

Anabaena

Gt

Agaricus

GNRFR

hilum
fem

chalaza
FA] /=TS

36

38. The placenta is attached to the developing seed near the
B o NeGEE /e ALAES 07 4 GTFAIT FEG WRAGH AR
[A] testa {B]
k)
[C] micropyle (D]
RIETMalEG]
39. The percentage of nitrogen content in urea is
RS I ARG TE 2O (2T
(A] 26 [B]
[C] 46 (D]

CEE-2014/2-D 10
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40. Sex chromosomes are responsible for transmitting the disease of

@9l RGN A3 A ST W (R (AR LT

[A] myopia [B] colour blindness
bt FIAR FTBCTR

[C] night blindness [D] long sightedness
AR AR 7 SRGSETR

41. Ranikhet’ is a disease found in
‘FMAS’ @R T WFE o

AN poultry [B] cow
REEEISIES QIR

[Cf © sheep [D] dog
=) ™

42. The capacity of a cell to develop into an individual to which it belongs is known as
TR @51 ffiesl Tt ReM @R wwore @@ ™

{A] pluripotency {B] totipotency
faefRechafo IRk

[C] parthenogenesis [D] parasexuality
AT AR CRSIZ

43. Which of the following is a living fossil?
s @mc! S & 2

[A]  Rhynia [B] Pinus
e QEZ

[C] Selaginella TD] Ginkgo
fo=mfercaen ferszper”

44. Which one of the following cellular organelles is devoid of DNA but capable of
replication?

e @ERY @ e R @, 9. w9 Wes @RI @aN wYel AT 0

[A] Ribosome [B] Lysosome
W,W’q m’mﬂﬂ

f€] Centriole [D] Plastid
ceffe'e eifge

CEE-2014/2-D 11 { P.T.O.
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45. Biologically marriage is generally prohibited between which of the following
combinations?

ERREERT WHRe WE (R @RR Twe AYRTS [KER (ZErS [ $9 2/ 2
[A] Rh* boy and Rh* girl [B] Rh* boy and Rh™ girl
[C] Rh™ boy and Rh* girl [D} Rh™ boy and Rh™ girl

46. Which one of the following are absent in animal cells?
AfceEe MRS (PFCEE ColEl /R ?

[A] Cell wall and plastids [B] Nucleus and centrosome
@A ¥ e @Y e TR

[C] Mitochondria and Golgi bodies [D] Chromosome and ribosome
EH REn = A I QPG WE T

47. The drugs caffeine, tannin and nicotine are

@Fe, O I e s SRwEN '

[A] steroids . [B] corticosteroids
(BT 36w 784TTD

[C] alkaloids (D] mild alkali
CEFPTARDR QI

48. Disease Tingworm’ is caused by

YA PRI AT (R(E

[A] Dbacteria [B] virus
@3 SiEAY

[C] fungus [D] worms
g k|

49. The exchange of chromosomal segment between two non-homologous chromosomes is
called as

WO ST QP 497 we (@R R (o1 =

fA] crossing-over [B] translocation
fom R TR

[C] inversion ff)] duplication
atf\ezetr= aifferiore

CEE-2014/2-D 12
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50. Sandy soil is dry in comparison to clay soil due to

A W TerErrey SR Mol W (@EE IR

[A] plasmolysis [Bl osmosis
2B A FLLAIo RIS

[G] capillary action [D] environmental effect
tafie famm ARz =rer

51. Metameric segmentation is the characteristics of

Ryem Aies 3R RO o T ot o mw

ﬁ\] Moliusca and Chordata (B] Platyhelminthes and Arthropoda
TR T FEIOI cerfbreafimas s ol

[C] Echinodermata and Annelida [D] Annelida and Arthropoda
G CRG! We wfifere afRferer = wgel

52. Which of the following is neither a prokaryote nor a eukaryote?

e @Eiy 2" Rac e TR T 0

(4] Oscillatoria [B] Tobacco Mosaic Virus (TMV)
sfRzeTs R BET (T SiZAT

[C] Yeast [D] E. coli
28 2. R

83. Viruses having double-stranded RNA are known as

TN O, . 9. [T SRARGIRT (IR

IA] rheovirus {B] poxvirus
fewrsizay A FS2AR

[C] ribovirus [D] None of the above
ISR @ qble T

54. If the pH of stomach is 1-6, then which of the following enzymes will digest protein?
W FFAR pH 16 W, e @@y gwenzem o467 va k7 2

[A] Trypsin [B] Amylase
fi=tfom QRS

[C]" Erypsin [D] Pepsin
Q1o ¢orelfon,

CEE-2014/2-D 13 [ P.T.O.
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55. Which one of the following is common to leech, cockroach and scorpion?

56.

57.

58.

59,

e ey @, ARereE o REe e T2

[A] Nephridia [B]
=

[C] Cephalization (D]
gz

The part of cauliflower which is eaten is -

I (X S 2

[A] flower [1;]
b

[C] fruit 7 . (D]
i

The non-protein part of the enzyme is called

e o’ GREA S| W 2'H

[A] isoenzyme [B]
iR @Ry

[C] holoenzyme []5]
(TR

The dental formula of adult man is

AR T2 7 20"

2.1.2.4
1Al 2.1.2.4 [B]
<z 2.1.2.3
(€] 2.1.2.3 (D]

Ventral nerve cord
BT T Ty

Antennae

pNOE

inflorescence
AT

leaf
i)

prosthetic group

IcEHS 259

apoenzyme

@7 IR,

2.2.31
2.2.3.1

None of the above
G¥RF 9IS =

If CO, concentration in blood increases, the breathing rate will

(TS TIE TIRSHIAST G M TAE-Fe 2]

[A] decrease [B]
R

[C] stop D]
| (2 IQ

CEE-2014/2-D 14
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e

remain unchanged

wefdafde A
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60. All the living organisms on the earth constitute the

|fAqs I T TN T AR e Cwm

[A] biome [B] biosphere
AN e

[C] community [D] population
R EILI G

61. Function of centromere is

% 'R I TA

[A] synthesis of RNA [B] replication of DNA
4. 99, 9, T f&. @n. 9. Farfe

[C] movement of chromosome [D] duplication of chromosome
QPR o QP e

62. Genes present on Y chromosome are called

Y QTS 4 fGEEs W

[A] autosomal gene [B] mutant gene
OIS & %5 fim

[C] sex-linked gene [D] holandric gene
fororrs i Zeafge o

63. Total energy present in a biclogical system is called
(e A oS 1 P eI EE T

[A] kinetic energy [B] activation energy

L i) Ham =
[C] entropy [D] enthalpy
a5 G

64. Immunity developed after the body has recovered from a disease is called
"R % SBR[ W Ae F9H Pve Seofs @@ Afewe @ =

[A] . active immunity {B] passive immunity
e eifdae AE AfoT®

[C] Both (A) and (B) D] None of the above
(A} WF (B) TEwaR 9] «bre g

CEE-2014/2-D 15 [ P.T.O.
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65. Population of cells derived from single parent cell is called

QU Py (FIET o[/ R 2 (FER RS @ =

{A] haploid [B] diploid
2e'2% o'z

[C] symmetrical [D] clone
S B30

66. Disorders like alkaptonuria and phenylketonuria are referred to as

g IRA W iRt e Wy efere @R =

[A] acquired disease [B] communicable disease
wiféfs TR o

[C] congenital disease [D] non-communicable disease
FACEoA TS T -Fgpieceae

67. In which of the following groups all are polysaccharides?
e (@ o AR ARG 7

[A] Glycogen, Sucrose, Maltose [B] Glycogen, Cellulose, Starch
AT, [EE, (T AT, (TS, IR

[C] Sucrose, Glucose, Fructose [D] Maltose, Lactose, Fructose
TEE, W, TS @'w, (W, FI®

68. Foetal sex can be determined by examining cells from the amniotic fluid by looking for

e @EEoR IR G i Be OR @R A IR Ea oF Adisg IR ARk 2

[A] chiasmata [B] Barr bodies
FICAEIG] A9 ATH

[C] autosomes [D] kinetochore
SCBICE FEAL' ST

69. At a particular locus, frequency of ‘A’ alleles is 0-6 and that of ‘a’ is 0-4. What would be
the frequency of heterozygotes in a random mating population at equilibrium?

a5 E ERrS A’ WRFER RS 06 WE @’ GRBEFR IRERS 04 TE Ry @O
o, SRR PR R G IR & 270

[A] ©O16 [B] 048
[C] 024 [D] None of the above
SOEq OIS T

CEE-2014/2-D 16
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72.

73.

74.
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What is the genetic material in influenza virus?

TG SRR SREE T 0

[A] Double-stranded DNA [B] RNA
fa-f¥ege 6. @7 w. WE. G 9@,

[C] Single-stranded DNA [D] None of the above
GFIAPEALE &, @1, 9. @9qq GBI T

Nucleus is absent in which of the following?
TR (PGS (FRER AT ?

[A] Xylem parenchyma {B] Phloem parenchyma
SR COACIAIRAT GFICAN CACTPIRN

[C] Sieve tube cells [D] Companion cells
STl A P _ A @

Jackfruit is derived from which of the following?
T (FMREE o9 I Teom 7 2

[A] An inflorescence (B] All carpels in a flower
o= AR T AT TS
[C] One ovary of single flower (D] Thalamus
QT Forg O =AM

If RBCs are placed in distilled water, they will

T 481 TR W e 7 frar @, cofem sfRiwiae

[A] stick together [B] shrink
GG 07 TR @6 YR

[C] burst (D] remain unchanged
Rl weifiaee (2 Afea

Klinefelter’s syndrome is caused in

s org's TEbe (ZRR 9T (xR

[A] females lacking one X chromosome
R CFqC GO X QP IR A

{B] females having extra one X chromosome
BT v OR X 9P WSRE @AM A

[C] males having extra one Y chromosome
N (IS TR Y @P[E ARE @I AR

[D] males having extra one X chromosome

*FEE (FIS GO X QP WeRe (@R A@
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75. Air bladder is present in
W T N T

{A] starfish
g RO

[C] cartilaginous fish

Sofege Wee

[B]

(D]

Examcompetition

jellyfish
(qE TS

bony fish

HEYS LS

76. Which one of the following is necessary for blood coagulation?

(O% YN T ATTAE ToF (TR AT 7

[A] Magnesium
R

[C] Calcium
eiEuin!

(B]

[D]

Copper
o

Iron

@

77. In which of the following Nissl’s granules are found?

g (PEe e IS aE cofn T ?

[A] Nerve cell
Ty (RS

{C] Bone cell

E (TS

[B]

(D]

Cartilage cell
Teifg eEo

Muscle cell
AT (S

78. How many base pairs are present in one turn of double-helix DNA proposed by Watson

and Crick?

aqhon F fFFq SRH-ZF DNA I 951 9o 9 (@ (R 41T ?

(A] 10
C] 34

[B]

(D]

9
34

79. Which of the following pigments is water soluble?

Fre @G 36 e T8 2
[A] Carotene

@ o
[C] Chlorophyll

R

CEE-2014/2-D 18

[B]

(D]

Phycocyanin
RS SR
Anthocyanin
97 5RAf
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80. Which one of the following is obtained on hydrolysis of protein?
o' WSS WA (WY (oI IR 2

[A] oa-Amino acids [B] p-Amino acids
o-afi’ «fos p-afiq’ «fos

[C] Nucleosides [D] Histidines
fefrersizs fpfofen

81. Which amino acid has no asymmetric carbon atom?

@FE iR’ aftve «Bre weTEfie FRE w9 w19 2

[A] Glycine [B] Alanine
2o e
[C] Proline [D] Threonine
o’ferm faer e
82. Enzyme was discovered by
TN ANCFRE W12
[A] Kuhn (B] Pasteur
T Copis’s
[C] Buchner [D] Sumner
EREIS ZECIE
83. Chemically auxin is
[T AiH! (2R
[A] abscisic acid [B] ethylene
«3ftfes «fbs fafem
[C] indoleacetic acid [D] methane
e FGHhe fte farem

84. Which of the following lacks protein?

e @FReE o' @2

[A] Saliva [B] Bile
e’ fraes

[C] Pancreatic juice [D] Intestinal juice
AP I R
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85. Tear is secretion of

59 SR Frofe R o1 ARH T

[A] sweat gland [B] sebaceous gland
w ofe e afe

[C] lacrimal gland ‘ [D] buccal gland
@tecae =t ERKERIEIE

86. The smallest bone in human body is
T (729 SHIRelE A TP (R

[A] femur [B] stapes
fewr (@1

[C] ulna [D] vertebra
e FCIEFS

87. The number of ATP consumed in glycolysis is

A3 AERES TN (@A ATP T 3391 (=E
(Al 8 [B] 2
[C] 36 [D] 4

88. Failure of descending of testis into scrotum is known as

[FME W e AN Wi @A @ 9

[A] paedogenesis [B] impotency
RIS Y

[C] cryptorchidism [D] castration
BT EETIES

89. Test cross is the cross between phenotypically dominant F, hybrid with
AT AP FARY A, FANAHA Ao F, 399 550 9o (FHCOR T GOl 20 ?

[A] recessive parent [B] dominant parent
AT AP oo T

[C] homozygous parent {D] heterozygous parent
T & S T
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90. The males of bees and wasps are
o (Y 9% e[

{A] haploid [B] polyploid
Q39 2%
[C] XX [D] XO

91. Persons having colour blindness cannot distinguish
S| 4P (PTE O/ (FAER 367 Nl 4Rq TR 2

{A] Dblack and yellow - [B] red and green
A W PAT Y qF ISE

[C] yellow and white . [D] green and blue
R S I8 CIo& = e

92. Initiation codon in higher plant is

TH AR B cFae weell 3T i
[A] UAG B] AUG
[C] AGU [D}] GAU

93. From a DNA template with the sequence CTGATAG C, the mRNA sequence formed

would be

CTGATAGC W@y %3 B DNA (BB *@1 mRNAT %7 91 S[@aihl L20g
[A] GAUTATUG [B] UACTATCU

AC] GACUAUCG [D] GUCTUTCG

94. Which of the following is a nucleoside?

o @ b ek iR 2

[A] Adenosine [B] Adenine
«fS" B «fSfee

[C] Deoxyribose iD] Adenylic acid
[k SIESi iR afte

95. Two polynucleotide chains are held together by which of the following bonds?
o1 TSRS et P st Tmf ww I 4R e o

IA] Phosphate [BI Hydrogen
RIS RECE T

[C] Disulphide [D] None of the above
SREAFRe - @oFq Wb T
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96. At first, the operon model for regulation of gene is provided by
(ofeed, B FageR e oo T SeReRRe

[A] Jacob and Monod [B] Watson and Crick
&I HqF VAT Ao T &

[C] Jacob and Crick {D] Baltimore and Temin
&' WE (T BT W GREN

97. The equilibrium of gene frequency in a population is disturbed by
s (@GR @l bl SR W Byin el s = ?

[A] gene migration [B] mutation
e lciT TerfRges

[C] recombination D] All of the above
TTLATE BAAS WHIRCILH!

98, Wuchereria bancrofti causes

STRCIA! (ET(s TAE (I ({0 P 2

l[A] taeniasis [B] ascariasis
fofafke SRCRRRE

[6‘] elephantiasis [D] hepatitis |
afembizafEr ceeEfbr

99. Production of ethanol from sugary substances through fermentation involves
e Al *RER1-GTOW oI AR T TS FCACS, IR T

[AT Saccharomyces cerevisiae [B] Lactobacillus
T RER ohRfelR T8 R

[C] Staphylococcus [D] Aspergillus niger
EFIZTEIR ' GZRfEER. TR

100. Which of the following is famous for Golden Langur?
e @@ 10 G s W [ 2

[A] Kaziranga [B] Joydihing
RaICE LI GEY
(€] Manas - [D] Gibon
T for=
CEE-2014/2-D 22
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